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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this. question paper.

2. All questions are compulsory.

3. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper. ’

BEl @ fou fdw

1 Y- @ fien @ SR Re ww FuiRe = w s agwae fofag

2. aoft v sfRart &

3. =9 V-9 & IR N a1 RS v s A Afvrg, AfdT a9 IR o e w
& B ey |

1. State whether the following are true or false (any five) : (10)
frfad ¥ F A9 A 99 O @ ? SOE (FE W) :
(a) If the antecedent is false, the material implication will be true.
A G e}, W IR G A B
(b) If one of the conjuncts is false the conjunction is true.
R v G W ST R A I B |

(c) A truth-function that has all T’s (true) in the main column of its truth table

is contingent.
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2
I ¥ AR ® I o ¥ o T () T W I SR Fe B |

Stroke function is true if one of its components is false.
R %o ¥ Bl 8 9 T IS TF AR 6 8

A decision procedure is a method to determine the validity or invalidity of

an argument.

i Rl gfra o dum s sRva FuiRa w@ & T womeR 2 )
‘p/q’ is equivalent to ‘~ (p*q)’.
‘PIQ’ T~ (p+q)’ TIGEA & 1

If the conclusion is false and one of the premises is false the argument is

" invalid.

IR s @ ? 9o A N AR 9 JE ? W@ g st B

Use the truth table method to test whether the following are tautologous,
contingent or contradictory (any one) : 6)

o ot A g FeiRa < f6 fafoRes T, wer o = @ (@
5%(,’35):

D) (P29 >(@q-))=(p>(q-1)
i (P29 (~qvp))o>p=q)

If A and B are true, X and Y are false determine the truth and falsity of the
following (any one) : : 4)

e A 3R B 2 aur X AR Y 39 ? A RefoRaa o waan an sracuen fReaiRa
Hifog (FE <t ga)

() [(AvB)- (~X> ~Y)j > (Y o B)

(i) (XvB) - (YD A)>AVY)
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Use the shorter truth table method to determine the validity/invalidity of the
following (any two) : (5%2)

ffoRad & duar/ v g o aron faftr grr FuiRa S (98 5 @)

@ AvB
(ADC)-(BoD)
/.. CvD

() ~P - Q
~QvVvP
/.. PoQ

(i) pv(q-1)
pvq
/o0 ~(q- 1)

(a) Define the following in terms of the stroke function (any one) : 4)
frfafaa = T R § ainfia e (@ & )
@ ~@dvae)
@) (p-q)or

(b) Define ‘p=g’ in terms of negation and disjunction or negation and
conjunction. (6)

‘p=q’ W Foy va faaiem storar P wE Ao A aftnfie @i )

Symbolise the following (any five) : 5)
freaffiaa =1 wieewe e (FE S i)
(a) Either he will get a gold medal or he will not study further.

T 9 92 WU YSdh W HAN A1 98 [ AST Y |
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(b) Neither John nor Mary will go to Goa.
TS T8 A Mar e
(c) The doctor will be rewarded if his treatment cures the patient.

fftheasr a2 aft IR IwER ¥ W S B AT |

(d) Both A and B will not be selected.
A 3R B IF € 1 9 A8 B |
(e) The judge will punish the guilty only if the police catch the thief.

mﬁmmﬁﬁmwmuﬁgﬁawﬁmﬁél

() Unless the road is repaired, the traffic will have to be diverted.
I wgw geral 8 2 A 2fhw A R Seert B
(g) If the tall player is not selected, the match will not be won.

i e fRaenst @ 8 g W, A= TS Shar e |

Construct a formal proof of validity for any one of the given arguments, using the

nine rules of inference : (10)

frafoRaa ¥ A 50 vee & rwRe woT 9 SeET S @ At B @ wae
T wifog :
(i)X:.%(
(X-Y)oZ
(X>Z)>~U
Uvv

/- \J
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@@ Q>R
~S>(T>oU)
Sv(QvT)
~8S
~ RvU

7. Symbolise the following using quantifiers and the notation of propositional functions
(any five) : (10)
i @ afds =R v GRAvE ¥ T SR (S & )

() Only roses are fragrant. (Rx, Fx)
el T Gt B 1
(i) Express trains never stop at this station. (Ex, Sx)
T A o T RAT W T8 &Rl |
(iii) Few movies are box-office success. (Mx, Bx)
o & TRE ww SifhE W a6 B 2 |
(iv) Almost all birds build nests. (Bx, Nx)
TRE A Y RNl T E |
(v) Elephants are huge animals. (Ex, Ax)
Tt frae g ¥
(vi) Most students do not participate in sports. (Sx, Px)
ST B WA F W S A |
(vil) Criminals are rarely respected. (Cx, Rx)

o & s Tl B
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8. Write short notes on any two of the following :

frfofag ¥ 4 & @ R Gt o ol

(i) Paradoxes of material implication
T AR & RS
(i) Strong and weak sénses of ‘or’
‘S’ @ wee o Ade s
(i) Truth and Validity

AT UE U

(10)

(400)
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